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Section 10.1

b 1. Use your calculator to find each trigonometric ratio. Round to the nearest hundredth.
a. tan84® =49.5i oo decine
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2. Find each Iength Round to the nearest tenth.
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3. Use your answers from #2 to write each trigonometric ratio as a fraction and as a decimal Q- o
rounded to the nearest hundredth. \[ 3°"‘°J °
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Section 10.2
1. Use your calculator to find each angle measure to the nearest degree. vone\e- e
a. cos'(0.97) b. tan™(2) c. sin”(0.59)
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3. The coordinates of the vertices of AMNP are M(-3, -2), N(-3, 5), and P(6, 5). Find the side
lengths to the nearest hundredth and the angle measures to the nearest degree.
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Section 10.3

1. Classify each angle as an angle of elevation or angle of depression ’ Bf,f“’??g
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b. £9 g\ eva-—ron

2. Anplaneis flying at an altitude of 14,500 ft. The angle of depression from the plane to a control
tower is 15°. What is the horizontal distance from the plane to the tower? Round to the nearest
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3. A woman is standing 12 feet from a sculpture. The angle of elevation from her eye to the top of
the sculpture is 30°, and the angle of depression to its base is 22°. How tall is the sculpture to
the nearest foot? ’ U
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